A i X ZF 100m
FiE
140 (JEEE +0.1m) 2% (JEE +1.0m)
Vv FE R 4 T8 S JERE R 8 vy FE K 4 [ =i
1 3461 RER KRB ( Frls  2) 2 13.39 1
2 3517 ¥R \WOSA( EBWH 2) DNS 2 4126 B BHME ( BERIER 1
3 3078 A% BAE ( BSHER 2) 3 13.54 3 3649 /hka FEfE ( FowidbBE 2
4 4152 RHE L (K 1) DNS 4 38455 Rt #HE( Frlky 1
5 3783 /NE/K HBHE (1 A 3) 1 13.16 5 4085 AH HAa ( LEVE 1
6 3948 "R T ( HR¥E 1) 4 14.04 6 3501 E BRI ( HBAE 2
7 3055 LH ¥y ( WFEEE 1) 5 14.10 7 3801 Ik HE3E WrEE 3
8 3635 /M A (WERE¥PE 1) 6 15.96 8 4151 TIE X, (K 1
358 (EE# -1.3m) 4% (AE# -0.8m)
Vv JEOR 4 T8 S JERr R & 12 - Vi £ [ =i
1 1
2 4008 (LR #£J5 (FrkdepE 1) 3 13.80 2 3897 fEl] ¥ZE ( WiFEH 1
3 3249 EIE QW ( TLRAT 2) 6 14.64 3 3348 mfF SkE (Wi KM 3
4 4154 A MF ( BREER 1) 1 13.36 4 4094 FEH EH¥E ( LHEIE 1
5 3060 HiFME BELA ( WIRTE 1) 4 14.10 5 4125 /b gk (O EIOER L
6 3941 ¥®JI wiFn (. BRRAE  1) 2 13.49 6 3541 AJL BHA (1 WimM 1
7 3305 =H Hiv ( EEAE 2) 7 4009 fERE THE ( FrwidbE 1
8 3789 K¥E #A%F (  #B% 2) 5 14.32 8 3077 KW HEAy (BRI 2
54 (JEE# +0.7m) 6 fH (A +0.3m)
Vv FEOR 4 AT B S JBM R & Vv EZEORK 4 [ i
1 4113 #7 L4 (0 EBRE 1) 7 15.84 1
2 3553 JEAZ XA (MM 1) 5 13.90 2 4072 BRI £4ET) ( WHIEE 1
3 3056 N £F%E ( WEFEE 1) 3 13.57 3 3508 BA HEL (B 1
4 3757 EiE a4 ( BRIERR 2 ) 1 13.42 4 3891 #F HEfe (1 WmEHE 1
5 3460 FEM T ( FrE 1) 4 13.59 5 3200 Al A ( deSkak 2
6 3631 i)l WAL (JERZFPE 1) 8 16.12 6 3161 et HIE ( RN 3
7 3028 YEH AEF1 (0 BEA 2) 6 14.84 7 3406 fERE FIE (0 KHR 2
8 3081 LA ZE ( BGHER 3 ) 2 13.49 8 3370 ®JI| = (WEF TR 2
R (A -3.5m)
vy FwSOKR 4 BB 4 AN R 6%
1 4154 A HI+ ( BREER 1) 6 13.53
2 3891 #F AR ( WFEeE 1) 7 13.60
3 3406 PERE W15 (KR 2) 2 12.89
4 3161 felil HFE ( BRRME  3) 1 12.85
5 3783 /INE/K ERE ( fB4E 3) DNS
6 3649 /pRr TR (FrWEdEE 2 ) 3 13.06
7 8541 AT W4 (1 iE 1) 4 13.44
8 4009 fEl] TH (FriEdE 1) 5 13.51
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A T S
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14.06
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HMEHh X ZF 200m BMAR 354

FiE 5145 +3
140 (JE#E -2.7m) 2 %A (JEE -2.3m)

Vv FE R 4 T8 % JERE G 8 vy FE K 4 T8 S A R g
1 1

2 3897 Al £78 ( MmEHE 1) 4 27.99 2 3089 MM WA ( BUSEER 2) DNS
3 3305 A HA ( LEAE 2) DNS 3 3201 AW FE (kAL 2) 5 30.61
4 3455 Rt HE( Fr 1) 6 30.57 4 3370 &I EE (WRELIKK 2 ) 4 29.30
5 4009 f&Ef TE (FrideE 1) 1 27.41 5 3891 # A& (1 WS 1) 3 27.54
6 3166 Wit A ( BERAE 3 ) 3 27.84 6 8161 fRJT HE ( HRE 3) 1 26.68
7 3735 AR EWL ( BREER 2) 2 27.50 7 8650 /i =B ( SFoWidEEE 2 ) 2 27.49
8 4151 —HE FL,( Kfp 1) 5 30.02 8 3249 BB 1WA ( TLBAT 2 ) 6 31.16
3#H (JEHE —2.9m) 448 (EZE -12m)

Vv JEOR 4 BT JE S JERr R & vy FHOKR A4 T B S ERT R 8k
1 1

2 4154 A MF ( BREER 1) 3 27.64 2 3460 REH TH ( Fx 1) 3 28.54
3 3409 A (KR 2) DNS 3 3954 mE RHE (0 AW 1) 6 29.88
4 3028 VEM #EF ( HeA 2) 5 31.50 4 3060 FFFME LA ( WREFEE 1) 5 29.21
5 3169 il EvE ( BRRA 1) 2 27.63 5 3801 JIl k WE¥E ( WM& 3 ) 2 28.00
6 3078 A% MRE ( BUSHER 2) 4 28.91 6 4101 BE <6 ( EEAE 1) 7 30.72
7 3517 AR \WIOH (A 2) DNS 7 3395 HH Zedes (0 KM 2) 4 28.80
8 3649 /pkr FEk (FoWdbEE 2 ) 1 26.64 8 3348 MHAE kI (WIRT KK 3 ) 1 27.59
5% (E#E -0.4m)

Vv FEOR 4 AT B S JBR R &

1

2 4085 A H&E ( LEAE 1) 3 29.45

3 3890 JIIG EZA (M TRM 1) DNS

4 4126 TEE OHME ( BEUUEWR 1) 5 30.60

5 3504 RE FEf ( BHE 2) 4 29.88

6 3461 AREX KRB ( FoE 2) 2 27.76

7 3541 AJL B (O HIFS 1) 1 27.16

8 3090 HH #HJy ( BESHEIR 2 ) 6 31.42

i (R# -2.2m)

Vv BSR4 AT B S4E BN R &

1 3891 F MEE ( WA 1) 7 27.94

2 3735 FR BEWL ( BREER 2) 3 27.67

3 4009 fE[] TH (F g 1) 4 27.78

4 3541 AT BAx (WP 1) 2 27.03

5 3649 /hir FERR (FoEdbE 2 ) 1 26.46

6 3161 MR HE ( FERWE 3) DQ

7 3650 /hith x<H ( FridlE 2 ) 27.85

8 3348 EiE KE MBI KK 3 ) 5 27.82
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A i X ZF 400m
pig
140 2 %8
vy BSR4 T8 O EAE R B V=
1 1
2 3758 FPH E&y ( HRER 2) 1 59.01 2 3532
3 3183 ¢k HAZET( BERE 2 ) 3 1.00.55 3
4 3648 MHAT Mk (FrEdEEE 2 ) 4 1.02.53 4 3317
5 3559 KU Fifs (WP 2) 2 59.49 5 3650
6 3898 A FA)y( MEHBE 1) 5 1.03.03 6 3166
7 3089 fEM BT ( BESHER 2 ) DNS 7 3962
8 4101 W Kb ( LEAE 1) 6 1.08.10 8 3074
3 #A
Vv BSR4 rd S EM. w6
1
2 3076 (LR ERE ( BUREER 1) 5 1.06.17
3 3890 JIlE WHLAS (W TRME 1) DNS
4 3651 VLA A ( FriEdekE 3 ) 4 1.02.36
5 3172 L T ( HRRAE 3 ) 2 1.01.01
6 3410 FEn EHEE (K 2) 6 1.07.69
7 3535 Wi Fokd (MR 1) 1 59.89
8 3735 Zxil HIML ( BREER 2) 3 1.02.06
R
Vv FEOR 4 AT B S BN R &
1 3183 8Kk H&ET( HRRME 2 ) 6 1.00.62
2 3650 /I <6 (FFoRidbE 2 ) 8 1.02.71
3 3758 ATH Hén ( BRERR 2) 1 58.15
4 3532 WM ®F ( WiFE 2) 5 1.00.59
5 3535 W FokY ( WHEE 1) 4 1.00.48
6 3559 K% Hfs ( WiFE 2) 2 59.14
7 3166 HME KM ( ERPE 3 ) 3 59.71
8 3172 Wl TR ( BERWE 3 ) 7 1.01.98

W omAE%E ( BRIk
RSN O o7y il
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—o—= W N W W DN
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ZMAE 214
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1.00.66
DNS
1.03.51
1.00.97
1.00.95
DNS
1.01.69



HMEHh X ZF 800m
FiE
140 2 %8
vy BSR4 T8 O EAE R B Vv JEOR 4 [ Rin
1 4116 ¥R BOA ( FBRR 1) 6 2.34.39 1 3398 #HH &E (K 2
2 3173 Him ¥HE ( HRA 3) 2 2.27.76 2 3074 fHA BHA ( BEISHER 1
3 3736 fEE W& ( BREER 2) 1 2.27.56 3 3943 \ofR XH ( BRRAE 1
4 3400 KEF B (K 3) 5 2.28.16 4 4012 FEH B ( FomdbkE 1
5 3070 i EER ( BESER 1) 3 2.27.79 5 3559 KUF Eifs ( WAES 2
6 3340 HWN BT (ML KH 3 ) 4 2.27.88 6 3047 HH B ( WETE 2
7 3539 UNBEOEA (MRS 1) 7 2.42.93 7 3648 MK BT ( FrlEAcEE 2
8 4129 K W% ( HIUEWR 1) 8 2.48.87 8 3898 AH Ay ( WiFEE 1
9 3642 B W (ERLFFE 1) 9 2.58.03 9 3946 b EP ( PERA 1
10 3505 F4f ALy (@ 2) 10 25861 10 962 I HML (¥ 1
R
Vv JEOR 4 BT B S JBM R &
1 3400 K% # (K 3) 7 2.24.08
2 3340 BN S (MK 3 ) 4 2.21.29
3 3943 N0 A C BERVE 1) 2 2.21.10
4 3736 B mE& ( BREER 2) 5 2.22.69
5 3559 K% I ( WiFE 2) 1 2.18.88
6 3173 HiE ¥E ( JRW 3) 8 2.37.15
7 3074 FRE B ( BEUSHER 1) 3 2.21.22
8 3070 i EEl ( BUSHIR 1) 6 2.22.80

i i X ZF 1500m
R
Vv FEOR 4 AT B S JBM R & Vv EZBEORK 4 [ i
(1) 3896 ik HFL ( WmEsE 1) 14 5.36.57 (16) 3511 PHJE #EfE ( H7B 3
(2) 3505 B F1 (A 2) 19 6.08.32 @17 3186 finkE B ( BRI 2
(3) 3173 MW E ( BRE 3) 8 5.13.43 (18) 4095 JME Aofp ( BEAE 1
(4) 4012 RIS | (EyidcE 1) DNS (19) 3788 A Wi (5 3
(B) 3797 AR/ LiE (B 2) 12 5.24.56 (20) 3362 /NMEM % (MFEFT KK 3
(6) 4074 MK T ( WFEE 1) 10 5.14.18 (21) 3248 #Mk EH ( TLEBAT 1
(7) 3402 M EHE (K 3) 3 4.54.97 (22) 3397 WakS BEHF (1 Kib 2
(8) 3953 JUK MifE (7 1) 9 5.13.45 (23) 4129 #IF BHE ( HERERK 1
(9) 3804 WA KA ( WiEEE 2 ) 7 5.10.46
(10) 3400 KE B (  Kfp 3) 5 5.00.42
(11) 3047 HH B ( WFEFEE 2 ) DNS
(12) 3163 K@t OVe= (- FERTE 2 ) 1 4.45.10
(13) 4093 A% E{E ( EEVE 1) 18  6.06.49
(14) 3793 [UF B ( #84E 3) 2 4.47.60
(15) 3340 EN k= (WHRE L KM 3 ) 4 4.56.36
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CERECS
DNS
2.28.80
2.26.33
DNS
2.27.30
2.41.21
2.31.13
2.35.55
2.41.74
DNS

ZMAR 234

NEAL

13
6
16
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15
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11
20

i
5.34.69
5.03.78
5.42.93
5.43.47
5.37.33
6.31.73
5.16.88
6.11.41
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3511 Fa& #3EAE (
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NEAE
1
17
8

10

19
20

13

ZF 3000m
Lg% vy FEOKR 4 [ =i
10.23.29 (13) 4186 VR HupA (IR LK 1
13.12.44 (14) 3953 )UK MEfE (1 #BH 1
11.26.03 (15) 3362 /NEH Z (Wi KM 3
11.26.50 (16) 3896 T FHEHL ( WG 1
10.42.96 (17) 3410 @A HEEZE (1 KR 2
11.19.75 (18) 3165 +-H Ktk ( gERE 2
11.27.94 (19) 4095 JME Aofp ( BEAE 1
10.43.58 (20) 3784 JIREB BE (B 3
13.27.93
14.39.28
10.30.98
12.01.12
DNS
12.25.08
11.30.06
11.51.33
DNS

— — = — — — —

ZIMAE 204

MEfr Rk
18 13.22.69
12 11.56.44
15 12.33.92
14 12.04.56
6 11.13.03
5 10.47.20
16 12.38.65
11 11.35.99
ZMAR 54



M X ZF 100mH BMAR 174

FE 3275 +2
14 (JEE -1.5m) 2 %A (JaE -1.6 m)

v EFE K 4 T8 S ERE G 8 vy KR A BT EE R RSk
1 1

2 2

3 4011 AU Eifr (FrdeE 1) 6 19.52 3 3940 BEAR AAFE ( BRRWE 1) 5 20.19
4 3954 =L ORHE (0 EBA 1) 5 19.22 4 3789 K#E A/ (BB 2) 3 18.82
5 3044 JIIE mekd ( WIRETEER 2 ) 1 15.65 5 3075 [ER Zp7pd ( BEGHER 1) 1 16.43
6 3168 KM x4k ( HRRAE 1) 3 17.82 6 3508 B4 BREAE (MW 1) 4 19.04
7 3395 HH Telesx (0 KM 2) 2 17.72 7 3654 &k BE (FrkdtlE 2 ) 2 16.91
8 3324 FiH FEFE ( LEAE 2) 4 18.07 8 3396 HEF =55 (1 K 2) 6 20.29
3 %A (E#E -0.9m)

Vv FE R A4 Brg EE B w

1

2

3 3057 #nAK A ( WimETE 1) 3 17.90

4 3501 [EA BRI (R 2) 5 19.87

5 3080 MY EJh ( BNEER 3 ) 1 16.01

6 3170 |y HE O HERWE 1) 2 17.49

7 4092 HH WY ( EEAE 1) 4 18.26

8

R (E#E -2.4m)

-y &SRR 4 (S 2 S = (VAU >3

1 3057 gk A ( WHREFER 1) 8 18.00

2 3168 KfE Rx£( HERE 1) 4 17.77

3 3044 JIME mofd ( WREFRE 2 ) 1 15.66

4 3075 [y Aerpdr ( BHGHER 1) 38 16.83

5 3654 &k BH (FyWidtkE 2 ) 5 17.79

6 3080 MR Iy ( BUSHER 3 ) 2 16.57

7 3170 LR FE (O BHERRWE 1) 7 17.96

8 3395 HH A (K 2) 6 17.94




X ZF 400mH
FiE
14 2
-y FEOK 4 g S e R V- FE
1 1
2 3396 FIF 66 (K 2) 17 1.18.06 2 4092
3 3324 it ®BE ( LHEAE 2) 5 1.13.78 3 3070
4 3183 ¢vK HZET( HER¥E 2 ) 3 1.08.16 4 3180
5 3654 &k BE (FrEdE 2) 1 1.07.15 5 3317
6 3075 PA[FEL Aodedr ( BEIRBEIR 1) 6 1.16.69 6 3158
7 3743 |LMH ZeES ( BREER 2 ) 4 1.08.42 7 4011
8 3535 WG Fnkd (AP 1) 2 1.07.91 8 4140
RB
-y FEORK 4 [5i = B  SO [= VA 53
1 3324 Fidk EE ( LHEIE 2) 6 1.13.93
2 3743 |LJH ¥ ( HREER 2 ) 5 1.09.62
3 3070 i EE O BUNHEER 1) 2 1.07.10
4 3158 xRk B O( HERWE 3 ) 7 1.14.48
5 3654 &k BHF (FridtE 2 ) 1 1.05.96
6 3535 Win FoAb ( HEE 1) 3 1.07.50
7 4092 HH Wy ( EEAE 1) 8 1.16.38
8 3183 gak HZ&T ( HERWE 2 ) 4 1.08.07

X ZF 5000mW
R
-y EFEOK A4 [ o =Y A VI - 4
(1) 4186 W% HWA (M LKH 1) 3  38.03.45
(2) 3300 1=K E&E( LEIE 2 ) 2 3240.04
(3) 3174 il #2BF (. HEUE 3 ) 1 26.56.32

K 4 AT g A
H )y ( EEAE 1
2 ( BISHR 1
#NEE (O RRE 1
HomRA% ( EETE 3
ek 2 BERE 3
w0 G (Pl 1
Bt T O KR 1

— — — — — ~— ~—

ZMAE 14 4

2#H37%E +2
S VAR VR T

3 1.16.72

1 1.13.27

DNS
DNS
1.16.21
1.21.22
1.20.16

ZMAR 34



